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2000272(014)
Diploma in Engg. (Second Semester) Examination,
April-May 2021
(NITTTR Scheme)
APPLIED MATHS-1I
Time Allowed : Three hours
Maximum Marks : 70

Minimum Pass Marks : 25
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Note : Attempt all questions. Unless mentioned

otherwise. In case of any doubt or dispute
the English version question should pe treated

as final.
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Integrate the following functions with respect to x :
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(i) f(«/a+$%—)dx
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f e™ sinbx dx
Evaluate the following :

j e™ sinbx dx

2000272(014)

[31

Unit-11

2, fag wifse—

n
jlsin“xdx=——l
0 2

Prove that ;
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Prove that ;
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Find the area of the region bounded by the curves

y* =9x, y=3x.
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Find the area of the region bounded by fhe ellipse
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If y=e¢"(Acosx+Bsinx). Where 4 and B are

arbitrary constants, then find corresponding differential
equation. ; ;
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Solve the differential equation :

(1422 = (1+?)
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dy _2x-y+l
@ idx x+2y+3;
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Solve the differential equation’: (any one)

dv 2x—y+1
@ (h xX+2y+3
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(i) (1+x3)%+ 6x7y = (1+x2)
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Find a root of the equation y* -4y -9 =0 correct to

three decimal places using Bisection method.
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Find a root of the equation xlog,, x—1:-2=0 correct

to four decimal places using Regula-Falsi method.
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Find cube root of 12 using Newton-Raphson method

correct to four decimal places.
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Calculate the value of by :

(i) Trapezoidal rule
(i) Simpson’s 1/3 rule

. I0d 10 gaH 9 o fawfea s fargas 13

frm @ Jon/zsillxdx 1 T FG RIS

r/
Find the value of L 2sin x dx by Simpson 1/3 rule by

dividing the interval into 10 parts.

2000272(014) PTO



[81]
e
Or -
T ¥ T fER Q x R g W ITH W 45N
syt wh ¥ A T w heE 80 W § A T R
I BT H EAFC A BITT—
x (FXd) 0 10 20 30 40 50 60 70 80

d(dfiz®) 0 4 7 9 12 15 14 8 3

A river is 80 meter wide. The depth 4 in meter at a
distance x meter from one bank is given by the following

table. Find the approximately the area of cross-section :
» b= 1% I b 1 s

x(nmeter) 0 10 20 30 40 50 60 70 80
dinmetey 0 4 7 9 12 15 14.8 3
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